QUADRATIC EQUATIONS WITHOUT A LINEAR TERM

To solve ax’ + ¢ =0, ¢ < 0, remember the difference of two squares: a’=b=(a-b)a+b).

Example 8
Solve:

(@ ¥-4=0

Solution
(@ ¥*-4=0
(x=2)(x+2)=0

(b) 2x*-18=0 (c) 9x'=25 (d (x=2)Y=9

x=2=0 or x+2=0

x=2 or x==2
(c) 9x°=25

9’ =25=0

(B3x=5)3x+5)=0

3x=-5=0 or 3x+5=0

(b) 2x*-18=0
2(x*=9)=0
2(x=3)(x+3)=0
x=3 or x=-3

(d) (x-2)'=9
(x=2)*=9=0
(x=2=3)(x=-243)=0
(x=5)(x+1)=0

X=§ or x:—% x=5 or x=-1
Example 9
Solve:
(@) ¥*-6=0 (b) 3x*=15
Solution
(@ ¥-6=0 or ¥=6 (b) 3x22=15
Use6=(~/g)z x=+J6 3(x =5)=0

(x=48)(x+46) =0

xX=4/6 or x=—JZ

x=4+5 or x=—J§
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